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run_13059008 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
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run_13059008 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
Tue Feb 28 02:37:44 2012

[ADC for FGT RDO=1,ARM=2,APV=0 } [ ADC for FGT RDO=1,ARM=2,APV=0

5 = 4000 p—
3 ] = .
2 2 = :
1) = I O R JRERY [ 0 AR 1 R R S R
Q Q 3500 f— g
< < =
3000 P=f—|- <= {-t-f---- egoi|=|i=p==qkk=g==> oofpoocscas 1
=
o o o P = o EEERER S RERER AEEE B ELERE | ERERER] I & oofpoocscas
= 8
2000 f=—|- <~ {-t-f---- CER B B EEE § EEE R | EEEREE oofpoocscas
= i
1500 |- [« 4=t < p -~ - B EIERE E EEE PR | B 10t
1000 P=t—|- A= 41 -f - - - 1 EEEE B BUEEE £ ERE R B TR
= 8
= 8
500 fet—|- (- 4=t fo-n-H caol|ollcposdilslses )
= 2 8
= . 8
BN = R A BN B A R I Uttt 10°
i - = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel

[ADC for FGT RDO=1,ARM=2,APV=1 } [ ADC for FGT RDO=1,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
=
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
=
=
0

1 I
0 1000 2000 3000 4000
raw ADC APV channel

[ADC for FGT RDO=LARM=2,APV=2 } [ ADC for FGT RDO=1,ARM=2,APV=2

4000 - - - -
L) -2 2 0 B R P S B PR | P oo g ; :
EITV = 2 O B R P S B B | P -1-
2500 - A-{-1-t-r -4 {1 F- - -1 1
2000 SRR .-
1500 B - -1t -t -} 1 sepeeeees -1
1000 B A-1-{-t-r- 4 R 1 10*
500 |- {-{-f-F-f - ek e -1-

0 S I IR = A

i i i i i 107

] ]
3 =
e =
2 =
g g
B
=
.
B
=
.
B .
=
.
B
=
i i i is
1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1,ARM=2,APV=3 } [ ADC for FGT RDO=1,ARM=2,APV=3

= 4000 p—
] =
& =
Q 3500 f= -
< =
3000 = |- 1~
= 1
2500 p=m|- 1=
2000 f=r— - 1
=
1500 f= -
= 10"
1000 P=— - 4 -
=
=
500 p=—-|- 1-
=
o1+
= 2
= 10
2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1,ARM=2,APV=4 } [ ADC for FGT RDO=1,ARM=2,APV=4
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Ik
0 1000 2000 3000 4000
raw ADC APV channel

R i IE RN ARG RN AR AIGRI RN AT E AR AT RN ATRNAT]




run_13059008 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13059008 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
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run_13059008 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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run_13059008 FGT_ ADC_1,Timebin=2,Disc=3,asmb=3AB
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run_13059008 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
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Tue Feb 28 02:37:53 2012

[ ADC for FGT RDO=1 ARM=2,APV=17 | [ ADC for FGT RDO=1,ARM=2,APV=17 |
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run_13059008 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 02:39:29 2012
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run_13059008 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 28 02:40:04 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

160

1313

140

133

133

RMS (ADC-ped)

120

100

80

60

CECECEEEEEK]

40

20

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

B} ;
3 50 f—
(6]
[a]
)
12}
H 0
'3
30
20
10 b
0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

30

20

[ADC RMS for RDO=1,ARM=2,APV=20 _}

g 70 fe
Q oy
[=] -
< 60 P
%] -
= FH
© 50

40

30

20

10

0

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

80 F

70 |

RMS (ADC-ped)

60
50
40
30
20 F

10

0

APV channel




run_13059008 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:37:57 2012

[ADC for FGT RDO=1,ARM=3,APV=0 } [ ADC for FGT RDO=1,ARM=3,APV=0 |
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raw ADC APV channel
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run_13059008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Tue Feb 28 02:39:31 2012
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run_13059008 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:40:05 2012
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run_13059008 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Tue Feb 28 02:37:59 2012
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run_13059008 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:39:31 2012
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run_13059008 FGT_RMS 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 28 02:40:05 2012
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run_13059008 FGT_ ADC 1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 28 02:38:02 2012
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run_13059008 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 02:39:32 2012
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run_13059008 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 02:40:06 2012
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run_13059008 FGT_ ADC 1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 02:38:06 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
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raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
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run_13059008 FGT_ MPV_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 28 02:39:33 2012
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run_13059008 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Feb 28 02:40:07 2012
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run_13059008 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Tue Feb 28 02:38:08 2012
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Tue Feb 28 02:38:13 2012
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run_13059008 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Tue Feb 28 02:40:08 2012
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run_13059008 FGT_ ADC 1,Timebin=2,Disc=5,asmb=5AB
Tue Feb 28 02:38:17 2012
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run_13059008 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Tue Feb 28 02:39:36 2012
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run_13059008 FGT_RMS 1,Timebin=2,Disc=5,asmb=5AB
Tue Feb 28 02:40:10 2012
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run_13059008 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Tue Feb 28 02:38:20 2012
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run_13059008 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Feb 28 02:39:37 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13059008 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13059008 FGT_ADC 1,Timebin=2,Disc=1,asmb=1BC

Tue Feb 28 02:38:24 2012
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run_13059008 FGT MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13059008 FGT RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Feb 28 02:40:12 2012
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run_13059008 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Tue Feb 28 02:38:28 2012
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